10.

11.

12.

TSI Multiple Choice

. Solve 14=8+m

2
(a) m=-8 (b) m=8 (c)
. Solve Ttz =22
xr
(@) o=—3 () z=3 (©)

Findaifar—40=z+2and z =2
(a) a=21 (b) a=-22 (c)

Solve 6z + 20 = 2z

(a) z=-6 (b) z=6 (c)
Solve % + :-1- =21

(a) z=-15 (b) z=15 (c)
Find Pif P=2(L+ W), L=10,and W =6

(a) P=10 (b) P=30 (¢
If z = —5, evaluate (z + 9)(z + 5)

(a) 10 (b) —10 (c)
Find f(-1) if f(z) = Vz +1+2

() f(-1)=4 (b) f(-1)=3 (c)
Find Pr—rifp=-11 andr=%

() 4 (b) —4 (©)
Find the mean of 1000, 2000, 4000, 7000, and 9000

(a) 4000 (b) 4400 (c)
Evaluate 1000(1.05)2

(a) 11025.0 (b) 1.10250 (c)

alO
a

(2) a® (b) o (c)

m=12

-6

4600

1102.50

(d)

(d)

(d)

(d)

(d)

(d)

(d)

(d)

(d)

(d)

m=—12
g =1
-3
a=-21
T=295
__1
15
P=31
5
f(-1)=0
6

4500
11.0250

O™



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Simplify —2a3(ab? + b?)
(a) —2a3p? — 2a2b?
(c) —2a%b? — 2a3p?

4\ 3
Simplify (E)

8 10
(a) o (b) 3
If 422 — 16 = m, then 22 — 4 =
(a) —4m (b -7
4
2
Simplify (%)
(a) 16k3 (b) 64k?
Simplify p — 0.15p
(a) 0.75p (b) 0.95p

(3z + 2y)(3z — 2y)

(a) 922 — 122y — 432

(c) 9z2 — 492
(3z — 2y)(3z - 2y)

(a) 9x2 — 442

(c) 922 — 12zy + 442
Factor 100z2 — 9y?

(a) (10z + 9y)(10z — 9y)

(c) (10z + 3y)(10z — 3y)
Factor 2 4+ 6z — 7

(a) (z+1)(z—-1T)

() (z=1)(z+7)
Factor 22 —z — 2

(a) (x—-1)(z+2)

(¢) (z+1)(z-2)

(d)

(c)

()

()

(b)
(d)

(b)
(d)

(b)
(d)

(d)

204b? + 2a3b%

2a1b? — 203b?

64

~| 3

(d)

16k2 (d)

0.85p (d)

922 + 122y — 492
9z2 4 492

922 + 442
9z2 4 12zy + 43>

(10z + 3y)(10z + 3y)
(10z — 3y)(10z — 3y)

(z+1)(z+7)
(z—-1(z—-7)

(z+1)(z+2)
(z-1)(z-2)

8k?

0.90p



23.

24.

25.

26.

27.

28.

29.

30.

Factor 2z2 + 5z — 3
(a) (2z+1)(z - 3)
() (2z-1)(z+3)

Factor z3 + 622 + 8z
(a) z(z+2)(z—4)
() z(z+2)(z+4)

Factror GCF 3z3 — 1822 + 3z

(a) 3z(z?+6z—1)
(¢) 3z(z? -6z +1)
Solve 22 — 6z — 7 =0
(a) {1,-7}
Solve z2 +z—12=0
(a) {-3,—4}
Solve g = i
(a) {-1,-9}
Solve /z —2=8
(a) z=-64

2r+3y= 5
dr —2y= 2

(a) (z,9)=(-1,-2)
() (z,y)=(L1)

Solve

(b) {1,7}

(b) {-3,4}

(b) {1,-9}

(b) z=64

(b)
(d)

(b)
(d)

(b)
(d)

(c)

()

(c)

()

(b)
(d)

2z +1)(z+3)
2z —1)(z - 3)

z(z - 2)(z +4)
z(z - 2)(z — 4)

3z(z? + 6z + 1)
3z(z® — 6z — 1)

{_1: 7}

{37 _4}

(z,9) =(1,2)
((B, y) = (—1’ 1)

(d) {-1,-7}

(d) {3,4}

(d) {-9,9}

(d) z=-66
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T UM = 2ex = X

7z &lX



@ /wq_p; i OAX—Go=Xre X<z
G X — Fo=LK+L 7
a(z) —%o = (2)+<C
200 —70 = 2+L
2640 = ¢
26\"%’/‘5/" =~ Yrro
2 = 7Y

26 - Y
72

GX=2X—2° P
(-1 < K=o TS
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oA = L
o
X = S
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p=2(lrw)

@ feond / o~ PZ,Z([+W)/ L':/o) Wz |
p=2(197¢ @
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